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R ARSI TIRIL

/i (HAAT + 1)

H fit W 4 X aEA
Wpk254E8 H2 H WHWEREEHSY 5, 000
Wk 2548 H 3 H HRIOEHE THE2D | 5, 000
k2548 H3 H XL LEEDY 5, 000
Wpk254E8 H 23 H RN D97 SAISE 3 0 BT AR L O & 5, 000
FRK254E8 H 23 H A IR R 143 5, 000
Rk 2548 H 26 H WRIHT AR 2 5, 000
Rk 2548 H29 H AR LR A RBE BT Rl & U E = 5,000
FRi255-8 7 31 H FHIRITNSRF LM I = 5, 000
AN 40, 000

P& (AL - 1)

H fit X 4 X aEA
Rk25E8 A 1H BRRTV =2 FGAF LRI FTF ¥ VT 4 8—F — 5, 000
FRi255-8H 2 H Z2fE - AR RS RROGH AR E— =T ¢ — 3, 000
k2548 H2 H AR=VIRIF ¢ VT 4 —/"—TF 1 — 5, 000
YR 254E8 H 3 H HOHH~—7 2 25 4 /3L 3, 000
FRk254-8 H 16 A R B () NN 3, 000
FRk25E8 H22 H e shb Ry U — 7 HEEES ST b VR RS 3, 000
FRk254E8 H22 H A R B AR A H 5, 000
Rk 2548 H 23 H et 2 R AR T sl ik L OB 5, 000
Rk 254-8 H 23 H AEHEE 2 R B R A 2 AZ RS TR D 1S 3, 000
Mpk254E8 H 24 H BRI UT 4T 7 2 AT U REIRES E— N —F ¢ — 3, 000
Rk 2548 H 26 H <Y SRS 3, 000
Rk 2548 H 27 H BRRA—TNTA G R TTF 4 VT 4 E—rS—TF 4 — 5, 000
Rk 2548 H29 H EAGTIBARR S E = 5, 000
k2548 H30 H SER—F U =27 5 7B RS P IREE B AT 5, 000
/NEF 56, 000

= B (BT [19)

H f+ X o 4 XA
FR254E8 H 13 H ARRTA ARy T 758 (E¥H5) 25, 000
/NEF 25, 000

it 1E (AL 2 1)

H fit X A4 X%
Rk254F8 H 13 H b B9 R 7, 000
FRk254-8 H 13 H SEIRHETB )75 58 7,000
PRk 2548 H 13 H CONUNESIPEE L 7,000
/NEF 21, 000

.

H i+ X o 4 X
FRi254-8 H 9 H A LR B RAR G = 5, 000
ANy 5, 000
8H &k 147, 000
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